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1. We need the ability to construct a argument.
(A)logical (B)logic (C)logician (D)logically
2. He fails to close a deal with a big corporation, so he might
(A)display (B)discount (C)disagree (D)be dismissed
3.My professor will be taking a next year because he’ 11 spend
the year doing research on A. [. technology.
(A)trip (B)vacation (C)furlough (D) sabbatical
4. The government decided to demolish the restaurant because it was

proving too costly to maintain.
(A) richly (B) completely (C) plentifully (D) defectively
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